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https://www.kaggle.com/code/emreiekyurt/anemia-classification-with-eda-100-acc/input


 

Akurasi =  
𝑇𝑃+𝑇𝑁

𝑇𝑃+𝑇𝑁+𝐹𝑃+𝐹𝑁
 𝑥 100

 

Presisi =  
𝑇𝑃

𝑇𝑃+𝐹𝑃
 

 



𝑅𝑒𝑐𝑎𝑙𝑙 =  
𝑇𝑃

𝑇𝑃+𝐹𝑁
 

 

𝐹1 𝑆𝑐𝑜𝑟𝑒 = 2 𝑥 
𝑃𝑟𝑒𝑠𝑖𝑠𝑖 𝑥 𝑅𝑒𝑐𝑎𝑙𝑙

𝑃𝑟𝑒𝑠𝑖𝑠𝑖+𝑅𝑒𝑐𝑎𝑙𝑙
 







 

Akurasi =  
𝑇𝑃 + 𝑇𝑁

𝑇𝑃 + 𝑇𝑁 + 𝐹𝑃 + 𝐹𝑁
 𝑥 100%

Akurasi =  
93 + 85

93 + 85 + 43 + 64
 𝑥 100%

Akurasi =  0,62456140351 𝑥 100% =  𝟔𝟐%

 

Presisi =  
𝑇𝑃

𝑇𝑃 + 𝐹𝑃

Presisi =  
93

93 + 43
=  𝟎, 𝟔𝟖

 

𝑅𝑒𝑐𝑎𝑙𝑙 =  
𝑇𝑃

𝑇𝑃 + 𝐹𝑁

𝑅𝑒𝑐𝑎𝑙𝑙 =  
93

93 + 64
=   𝟎, 𝟓𝟗  



 

𝐹1 𝑆𝑐𝑜𝑟𝑒 = 2 𝑥 
𝑃𝑟𝑒𝑠𝑖𝑠𝑖 𝑥 𝑅𝑒𝑐𝑎𝑙𝑙

𝑃𝑟𝑒𝑠𝑖𝑠𝑖 + 𝑅𝑒𝑐𝑎𝑙𝑙

𝐹1 𝑆𝑐𝑜𝑟𝑒 = 2 𝑥 
(0,68 𝑥 0,59)

0,68 + 0,59
=  𝟎, 𝟔𝟑



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

https://proceeding.unpkediri.ac.id/index.php/inotek/
https://jutif.if.unsoed.ac.id/index.php/jurnal/article/view/12/4
https://jutif.if.unsoed.ac.id/index.php/jurnal/article/view/12/4
https://revou.co/kosakata/algoritma-naive-bayes#:~:text=menjadi%200%2C5

